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Sum and Difference Formulas Double-Angle Formulas
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+ —/ points LarTrigd 2.5.008.

Find the exact solutions of the equation in the interval [0, 2m). (Enter your answers as a comma-separated list.)
6 sin 2x sin X = 6 Cos X

/g(qs\_;x tos y) NV =%¢-‘°$X

=> 252y cosy —tosx = O

= (°°SX>(’J~5~7X~B =0

tosx =0

PP )

2.+ —/1points LarTrigd 2.5.007.
Find the exact solutions of the equation in the interval [0, 2x). (Enter your answers as a comma-separated list.)
sin 2x + sinx =0
Ls—x WY+ sy = O
«st\(lmx +<) -0
(
$ex zo or.  COSX =73
\ ! _
[
. '
[s)q1]

+ —[1 points LarTrigd 25 009

Find the exact solutions of the equation in the interval [0, 2x). (Enter your answers as a comma-separated list.)
cos2x +cosx =10

=D N s x - |

=1 6_—\ C’—'"
+ Cosx =0 = 4
2 bidre= (-vA)(-
2 st f o cosx — | = O
A pu 20 —\+2=9
vE Ve Vg
X: = -—g—’—
LT
~_ 21
—(i“‘)ﬂ R S 8
Ny = A e -
c4ov L\ (et )
Y ‘ :a(v-—ﬂ(‘*“"
o =k om r%=

= (2w~ Dt N
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4. + -1 points LarTrig9 2.5.010.

Find the exact solutions of the equation in the interval [0, 2m). (Enter your answers as a comma-separated list.)
0s2x+sinx=0 Cos ()= dostu-sulu= Westu— [ = [-25.24

= basly +six =0

SR SN [ =

2w —glx-t = O

bscox | Yox =) =9

dox=-3  sex=1
\ '
o -1 5
2 ¥
v N T [lain
Fr T T T
I, — -
o 0

5. + —/1 points LarTrigd 2.5.011.

Find the exact solutions of the equation in the interval [0, 2x). (Enter your answers as a comma-separated list.)
sin 4x = —2 sin 2x Sv.n 6“3,’ 2 sim Cos U

L5l oo (1) = -2sw(ax)
S\(‘Ly\ o (1.)J &+ g\;(‘L)\\ =0

N (m(c.ﬁs am] -0

o or cos G4 1 =0

S 2k
tos (1)) =—1
\
o —
214=0, ’L*:ﬁ Ax=T
-
x=0, * 7 < ‘1:‘;_,

6. + =/ points LarTrigd 2.5.013.
Find the exact solutions of the equation in the interval [0, 2x). (Enter your answers as a comma-separated list.)
Gtan2x — G cotx =0 alex s
e ) = ot )z o =R
X e $xzO
[ P, 2= sk - toTXE
- o5 Yy R
== - wh x =0 A f“j/y ) =
|— t~Ix . sl x s<X gw‘)(%@/mD_chx:D
[ ("‘?“’ ot
2dax - d:l X sireost 52_5,:‘—_0
| -{,-3)\ 3!:;)( ¥ ces‘x—‘»é‘ ==
- oSk — o
Cos¥ _ S22
1 e X
S U S Ljﬁ‘_’i{f =
ok % e
Ay = |- kTN v
Ay AT - 2o
- Ty .,'S\_s:" =X
Pty = ! cof X ¢of 5
Q. -
< —sw X
ket x = L Cos X Cos X o LeD =5°X (CE )
3 RS S - — =
\ = — 0 =y
A L.
Lomy= T = ot s F .
A ‘ (c0$’>>( ~swtX o5 )D =Q
(Q‘i-\‘ USK) -
Led
% cﬁyx—s\i‘xc"sx =0
-\ Ny Coi% - €7
=7 s~
Ny =
gty cosx —ee X =0
N Qo W . "—3—_0
YT, 0 6 <cmx)<’ss»3>"°“sx
R L, . 2\ = O
/\qg—ruoz) oN LeeT s k. gty — (1=~ A
Cos % =0 Dy o =0
X (x-2)= O teg dy~tx -t
Ay L
ST 5 N R
\/ 4 % sen== 1"
11 15 15
27 27676 " 6 6
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6. + -1 points LarTrigd 2.5.013.

Find the exact solutions of the equation in the interval [0, 2m). (Enter your answers as a comma-separated list.)

btan 2x — 6 cotx =0

devay ol x=o Here's another stab at it. Not exactly sure

why I lost the solutions corresponding to

oL l’w\.x ‘L -0

oLy - T RT cos( x ) = 0. But definitely confirmed at
A X (ot x V(1 2t=2%) N least part of the work done on the previous
LA ¥t ) page.

Aoy b b tobx dex =O
2fomy — o x f Aoy =0

Btarx — ol X =O

’5“’\_\)(_ tos X /5{&“34
— s\ _
s~ X
o X
"‘-)(,_/Co)l)( 3,i— - ( v E T wT
e =0 cot x L T
s X Cos X [
N 340.,,")(=
ﬂskix—(l”“}x\ =0 3\
. _+ =
RN dox=t
- \
Ay ~ ~—
WX =
Y
. T
Swu=— 2
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7.+ -3 points LarTrigd 2.5.021.

Find the exact values of sin 2u, cos 2u, and tan 2u using the double-angle formulas

sinu=—-4/5, \3m/2 <u<2m

L = selag)= Asmw tosu - 2(—19@3—,
ST 5
= ]/3\ Gouz =

4
3’ =) cog(’lx«): neostu - |

L 18
=2(Z) -(= %

N damy

= dan, () = 1_/+::-u

4 e -2
S S T

A -

Tt =

0{
-2 'i ﬁ -'_'ém"'\(lz'u\
= 3 '’ ?1?———/
8.+ /3 points LarTrigd 2.5.024.

Find the exact values of_si cos 2u, and tan 2u using the double-angle formulas.

9.+ -1 points LarTrigd 2.5.027 MI.

Use the power-reducing formulas as many times as possible to rewrite the expression in terms of the first power of the cosine.

7 cos* x Cog" 9 - ‘_if_"fﬁ‘f\)

T 2
=3 (e - #( \mi(w)) (2t8)*= 5 122 +47 (a-é)z‘*ai'mé"%l
2
= _{{t( dos (’L%* W

"

;( cost (2O 4—1@5(’29}4_&

B ;( cos (1) + » 1 cos (29) +(>
Yy o

\

- })
2 () + § + Zes (DL

@

NN

(
';;-U,S(‘fa\ + Zos(20)+ gg
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10.  + /1 points LarTrig9 25031

Use the power-reducing formulas as many times as possible to rewrite the expression in terms of the first power of the cosine.

sin? 5x cos? 5x

]_jo_%éo_x)>( "tioiﬁof)) = ;( | — (051(10)0) = l\_,— {;CO?’(‘OX)

2 2~

\_
= Q4+ 5
a_ L tos C’),(Q)() o QT
- ® 9
U < 0
1. + —/4 points LarTrigd 2.5.039. o
Consider the following. 3 4 o, sv.-—\‘i -0

- 2L

EANPS
. = g -+
tanuw =-7/24, 3m/2 <u < 27w glﬁ(o
(a) Determine the quadrant in which w/2 lies. Q T ot

(b) Find the exact values of sin(u/2), cos(u/2), and tan(u/2) using the half-angle formulas.

_L-): + Z s Y 2= s Cos 245 S _iﬁo?@
> - >

_eos - \
= (== - QO ;(L « ya+t596
e =+ ENR
X

‘ue
A\ = —=b _at =15
=\ s $F N G
™

ST @
| = I
- ~
2L
a
COS\,%T NES =- ,L/i-;/’
-
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12. + -1 points Laring¥ 2.5.041.

Use the half-angle formulas to simplify the expression.

,f# 1 — cos 8x
2 = sin (4x)

13. + -2 points LarTrigd 2.5.045.

Find all solutions of the equation in the interval [0, 2m). (Enter your answers as a comma-separated list.)

X
sin -+ cos x =0 xefo,’m\ — ’_J)f- efo/"'l') _— sw(_é)>0
(\/\\
-~
. — o 0
=05 £ pry =7 X €O e QT or Q1u o X
* X
2
mn NP3 _Asta :/) =0
\ - (_pS)(, _ 1 G S‘K’L_l— (l
AR T TR S
jg ¥ :()

”stxlé_J—f"\;'L(

(- oSk = 2o x As (Y- 5B —1 = O
Qo x sk =1 =@ (%“fl)»\\ﬁfﬁ\’ﬂ =

= <’l(0$)¢~—l\<QOS)C~\—l\:0 or g»;()—a-—(

. L
S (%,\: T2
{ = -
Cog =3 o2 cos X \ \
G
5 ( .
VA 6 _
- < _\/(
==
Nl Hen 7S~ NOo WY >
- ST =X o =T
QTIL ot Qur X e (QT on *
V\)K\f'CL M)OIA.,OJ
be £ i€

L e EO,l_n3
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14.  + /1 points LarTrigd 2.5.059.

Use the sum-to-product formulas to find the exact value of the expression.

scos T-6c0sT = (, (grupe) Cosu —dogu = s (“i‘)) S ‘:V)
k> —
=7 STUFFE = - 9sd (Trh;(f)

= b Stugg -

15. + —I2 points LarTrig9 2.5.061.

Find all solutions of the equation in the interval [0, 2m). (Enter your answers as a comma-separated list.)
) . _ — \
sin 6x + sin 2x = 0 T oO< 55, 1 f/,,./d dor b8l an ?Z 5 o qu

Cx= twery

cu-C'be/\ l/g Dq?}’ S, L.e"L‘S ’j;y Otn Sl
fdl 77

S (i) cof () 4 s () dos (4x) +sGx\ = o

- 2
sl G tosty) o s (1) (:z tos> (ux) -J\ rs3(w) = o

_67(»; (’L\ﬂ\\(ZCo{L N\ 4 2o (ix) — 4—l> =0

= (y&_ (’Z_\;\\)( Y cos™ («x\\ =~ O

s (2x)= o or Ylod(ix) =.o —
C,DS’L(’L)(> - o Ve \‘/ 2 7/ \_{
| sl = O
005(1)0 = O CAS Ob}-c‘\.‘l/)s

eqn2 = sin(6-x) + sin(2-x) =0
sin(6x) +sin(2x) =0

solve(egn?2)
1 1 1
PR
b
-
L»f
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16. + —/2 points LarTrig9 2.5.064.
Find all solutions of the equation in the interval [0, 2w). (Enter your answers as a comma-separated list.)
sin? 3x —sin2x =0
Use a graphing utility to graph the equation and verify the solutions.
G
o= o -
| - U’S(QX\ - (1=¢os (’J.x)) =0
\ - (@s((px\ - ¥ Cor(‘lx) o)
toslax) — cos(lby) = O
o (k) —Eos (4x) eos(ax) = ¢ (Yx) s o (7_)&]
cos (1 y) = cos (4x) aor (2xs b s (ix) s G
2
= cos ()= cos (O bos (1> + 2 oS ()s S (2xY)
2 (ax j
= cos () (' ~ cos () ¥ 2 s )
. A
= (o (1\/~\3 [( - 9_5-\,3'(7_»4\> e (-LXB]
~ Cos (’Lx)(\ - 14T (Y] +nsl2 (’zx)j
= s | sG] = o
coc ()= O

o Yall) =0

&1/’ S V;:L(’L )}\: O
2% e

oq Mw 4o cap‘tW s ax) =0

S/
ST I o
N o Fureenn
— o9 —
x= AL ST =T q " AX= O/ \]/Q.TF/?T
\_(/ - ! —‘—/’—
h 4y

o4 3T
x= 0,2,

2

T o 3o o, ST, 30 £
X:O/‘-(/’-L/\A/ R ¢
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